Q1)- SOLVE

a1 5 _ )3 2 -
10 8 4 5

5.4 . d3 5 -
6 9 7 14

7.1 = 1 _ 1 -
9 3 1 12

g)l_i = h)3£-2;|. —
10 16 3 4
2 6

K) o5 _,3 _ -3 5,1 -
66_ 48 B 74 22

ma.2 ,7 = n) g3 54 -
oy T

Q2)- Sunita has s of a pizza, and he eats %2 of it. How much pizza is left?

Q3)- A jug contains 7s of a liter of water. If %15 of a liter is poured out.
How much water remains in the jug?

Q4)- Aribbon is %10 meters long. If ¥ meters is cut off, how much ribbon
is left?

Q5)- Johar has %42 of a cake. She gives 748 of it to her friend. How much
cake does she have left?
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Ans1)- SOLVE

7.5 _ 3 3.2 -1
10 8 ~ 40 4 5 20
c)5 4 _ T d3 5 - L
6 9 18 7 14 14
e) 7.1 = 4 1 _ 7 =3
9 3 9 15 12 20
997.5 _ 31 h) ;2,1 _43
10 16 30 34 " 12

2 6 3
k) 61'41 = 21l 1) 7.3_ - 21_ = 5i
6 8 24 4 “2 4
m),2 .7 - ,8 n) o3 4 _.1
-9 T 19 8- 57" %s

Ans2)- "4 of the pizza is left.

Ans3)- 710 of a liter of water remains in the jug.

Ans4)- %10 meters of ribbon is left.

Ans5)- %6 of the cake is left.
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